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Question Number : 1 Question Id : 64635011102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E45350436599. 1
64535043700, 2



E4E35043701. 3
64535043702, 4

Question Number : 1 Question Id : 64635011102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350436599. 1
64535043700, 2
64535043701, 3
64535043702, 4

Question Number : 2 Question Id : 64635011103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535043703, 1
64535043704, 2
E4E35043705. 3
E4E35043706. 4

Question Number : 2 Question Id : 64635011103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043703, 1

64535043704, 2

64535043705, 3

64535043706, 4

Question Number : 3 Question Id : 64635011104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535043707, 1
4835043708, 2
4535042709 2
64535042710, 4

Question Number : 3 Question Id : 64635011104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g™ AT | HEid A TE TR e TR

(1) = (2) Tretfes
(3) wHEa (4) TS Ed
Options:

E4E35043707. 1
64535043708, 2
64535043709, 3
64535043710, 4

Question Number : 4 Question Id : 64635011105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35043711. 1
E4E35043712. 2
64535043713, 3
64535043714, 4

Question Number : 4 Question Id : 64635011105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535043711, 1
64535043712 2
E4E35043713. 3
E4E35043714. 4

Question Number : 5 Question Id : 64635011106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
645350437151

E4E35043716. 2
E4E35043717. 3
64535043718, 4

Question Number : 5 Question Id : 64635011106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350437151
64535043716, 2
64535043717, 3
E4E35043715. 4

Question Number : 6 Question Id : 64635011107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

64835043719, 1
4535042720, 2
64535042721, 5
4535042722 4

Question Number : 6 Question Id : 64635011107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635043719, 1
CAEZE04=720. 2
CAE2E045721. 2
425042722 4

Question Number : 7 Question Id : 64635011108 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535043723, 1
64535043724, 2
64535043725, 3
EAE35043726. 4

Question Number : 7 Question Id : 64635011108 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =
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Options:

64535043723, 1
E4E35042724 2
64535043725, 5
64535042726, 4

Question Number : 8 Question Id : 64635011109 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535043727, 1
64535043728, 2

: No Display Question Number :

Yes

Yes

Yes



EAE35043729. 3
64535043730, 4

Question Number : 8 Question Id : 64635011109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635043727, 1

64635043728, 2

£4635043729. 3

£4835043730. 4

Question Number : 9 Question Id : 64635011110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

645350437311

G4AR35043732 2

64535043733, 3

64535043734, 4

Question Number : 9 Question Id : 64635011110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835043731, 1
4535043732 2
64535042732 5
64535043734 4

Question Number : 10 Question Id : 64635011111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350437351

64535043736 2

E4AE35043727. 3

64535043738, 4

Question Number : 10 Question Id : 64635011111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535043735, 1
E4E635043736. 2
645350423737, 5
64535042728, 4

Sub-Section Number : 2
Sub-Section I1d: 646350525
Question Shuffling Allowed : Yes

Question Id : 64635011112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635011113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635043739 1

646535043740, 2

64635043741, 3

646535043742 4

Question Number : 12 Question Id : 64635011114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535043742 1
64535043744, 2
E4E35043745. 3
EAE35043746. 4

Question Number : 13 Question Id : 64635011115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35043747. 1



E4E35043748. 2
64535043745, 3
64535043750, 4

Question Number : 14 Question Id : 64635011116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525043751. 1
E4535043752 2
64535043753 3
64635043754 4

Question Number : 15 Question Id : 64635011117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535043755, 1

64535043756, 2

64535043757, 3

64535043758, 4

Question Id : 64635011112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635011113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
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Options:

4835043739, 1
4535042740 2
64535042741, 5
64535042742 4

Question Number : 12 Question Id : 64635011114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535043743, 1
64535043744, 2
64535043745, 3
EAE3504374E. 4

Question Number : 13 Question Id : 64635011115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35043747. 1
E4E35043748. 2
64535043745, 3
64535043750, 4

Question Number : 14 Question Id : 64635011116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T ATl =5 e § S AuR R o g 27

(1)  =HE TR T F9 F0H

(2) =TI TEAETT 1 T T
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Options:
463504575101
64535043752, 2

E4535043753. 3
E4535043754. 4

Question Number : 15 Question Id : 64635011117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
40235042755 1
64635043756, 2
64635043757 3
64535043755 4

Sub-Section Number: 3
Sub-Section 1d: 646350526
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635011118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
453250427559 1

E4E35043760. 2
E4E35043761. 3
64535043762, 4

Question Number : 16 Question Id : 64635011118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835043759, 1
E4E350437E0. 2
64535042761, o
4535042762, 4

Question Number : 17 Question Id : 64635011119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535043763, 1
4835043764 2
4535043765 2
64535042766, 4

Question Number : 17 Question Id : 64635011119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA HH < T =T F)
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(dy =TT R ATEE T
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535043763, 1
64535043764, 2
E4E350437EE. 3
EAE35043766. 4

Question Number : 18 Question Id : 64635011120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E250427E7. 1
EAB25043768. 2
E4535043769. 3
64535043770 4

Question Number : 18 Question Id : 64635011120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835043767, 1
64535043768, 2
645350423769, o
64535043770, 4

Question Number : 19 Question Id : 64635011121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4E35043771. 1
BAE35043772. 2
64535043773, 3
64535043774, 4

Question Number : 19 Question Id : 64635011121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g

(1)  =AfFa T (2) Tarvgereg wheie=
(3) T (4) T S T
Options:

64535043771, 1
EAE35043772. 2
EAE35043773. 3
64535043774, 4

Question Number : 20 Question Id : 64635011122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



EAE35043775. 1
64535043776, 2
64535043777, 3
64535043778, 4

Question Number : 20 Question Id : 64635011122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHTTT THIT % dedl & T #H 7 -
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(3) AT, ANTEFA, T, B

(4) 4, TH, TEATEA, TIEED
Options:
64535043775, 1
435043776, 2
64535043777, 5
64535042778, 4

Question Number : 21 Question Id : 64635011123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

6453504377591
64535043780, 2
64535043781, 3
EAE35043782. 4

Question Number : 21 Question Id : 64635011123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

645350437791
64535043780, 2
64535043781, 3
EAE35043782. 4



Question Number : 22 Question Id : 64635011124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E35043783. 1
E4E35043784. 2
64535043785, 3
64535043756, 4

Question Number : 22 Question Id : 64635011124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E35043783. 1
E4E35043784. 2
64535043785, 3
64535043756, 4

Question Number : 23 Question Id : 64635011125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535043787, 1
64535043788, 2
E4E35043789. 3
E4E35043730. 4

Question Number : 23 Question Id : 64635011125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535043757, 1
64535043788, 2
64535043759, 3
E4E35043730. 4

Question Number : 24 Question Id : 64635011126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350437391, 1
64535043732, 2
64535043733, 3
E4E35043734. 4

Question Number : 24 Question Id : 64635011126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

645350437391, 1
64535043732, 2
E4E350437393. 3
EAE350437394. 4

Question Number : 25 Question Id : 64635011127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

64535043755, 1



EAE350437396. 2
64535043737, 3
64535043738, 4

Question Number : 25 Question Id : 64635011127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535043735, 1
64535043736, 2
E4E35043737. 3
E4E350437398. 4

Question Number : 26 Question Id : 64635011128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E350437395. 1
E4E35043800. 2
64535043801, 3
64535043802, 4

Question Number : 26 Question Id : 64635011128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E45350437959. 1
64535043800, 2
64535043801, 3
E453504380Z. 4

Question Number : 27 Question Id : 64635011129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35043803. 1
E4E35043804. 2
64535043805, 3
64535043806, 4

Question Number : 27 Question Id : 64635011129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35043803. 1
E4E35043804. 2
E4535043805. 3
64535043806, 4

Question Number : 28 Question Id : 64635011130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535043807, 1
64535043808, 2
64535043809, 3
E4E35043810. 4

Question Number : 28 Question Id : 64635011130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535043807, 1
E4E35043808. 2



E4E35043809. 3
64535043810, 4

Question Number : 29 Question Id : 64635011131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35043811. 1
E4E35043812. 2
E4535043813. 3
64535043814, 4

Question Number : 29 Question Id : 64635011131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
64635042511, 1
64635042512 2

64535043813, 3
64535043814, 4

Question Number : 30 Question Id : 64635011132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535043815. 1
64535043816, 2
64535043817, 3
64535043818, 4



Question Number : 30 Question Id : 64635011132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535043815. 1
E4535043816. 2
64535043817, 3
645350438158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350527
Question Shuffling Allowed : Yes

Question Id : 64635011133 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635011134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E350438149. 1
E4E35043820. 2
64535043821, 3
64535043822, 4



Question Number : 32 Question Id : 64635011135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

EAE35043823. 1
B4E35043824. 2
64535043825, 3
64535043826, 4

Question Number : 33 Question Id : 64635011136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535043827, 1
64535043828, 2
64535043829, 3
E4E35043830. 4

Question Number : 34 Question Id : 64635011137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535043831, 1
64535043832, 2
E4E35043833. 3
E4E35043824. 4

Question Number : 35 Question Id : 64635011138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35043835. 1



EAE35043836. 2
64535043837, 3
64535043828, 4

Question Id : 64635011133 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635011134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535043819. 1
64535043820, 2
64535043821, 3
64535043822, 4

Question Number : 32 Question Id : 64635011135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535043823, 1
64535043824, 2
64535043825, 3
64535043826, 4



Question Number : 33 Question Id : 64635011136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535043827, 1
64535043828, 2
E4E35043829. 3
E4E35043820. 4

Question Number : 34 Question Id : 64635011137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35043821. 1
E4E35043832. 2
64535043833, 3
64535043834, 4

Question Number : 35 Question Id : 64635011138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

645350438355, 1
E4E35043836. 2
E4E35043837. 3
64535043828, 4

Sub-Section Number: 5
Sub-Section Id: 646350528
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635011139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

64535043839, 1
64535042840, 2
64535043841, =
64535043542 4

Question Number : 36 Question Id : 64635011139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350435359. 1

64535043840 2

648350435341 =2

EAB35043342 4

Question Number : 37 Question Id : 64635011140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535043843, 1
64535043844, 2
64535043845, 3
E4E3504384E6. 4

Question Number : 37 Question Id : 64635011140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535043843, 1
64535043844, 2
64535043845, 3
E4E3504384E6. 4

Question Number : 38 Question Id : 64635011141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

645350435847 1

646350438458 2

64835043349 2

E4525043850. 4

Question Number : 38 Question Id : 64635011141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35043847. 1
64535043848, 2
64535043849, 3
64535043850, 4

Question Number : 39 Question Id : 64635011142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35043851. 1
E4535043852. 2



E4535043853. 3
54535043854, 4

Question Number : 39 Question Id : 64635011142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535043851, 1
64535043852, 2
E4E35043853. 3
E4535043854. 4

Question Number : 40 Question Id : 64635011143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35043855. 1
E4535043856. 2
64535043857, 3
64535043858, 4

Question Number : 40 Question Id : 64635011143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535043855. 1
64535043856, 2
64535043857, 3
64535043858, 4

Question Number : 41 Question Id : 64635011144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535043859. 1
64535043860, 2
64535043861, 3
64535043862, 4

Question Number : 41 Question Id : 64635011144 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535043859, 1
64535043860, 2
E4E35043861. 3
EAE35043862. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635011145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535043862, 1
E4E35043864. 2
E4E35043865. 3
E4535043866. 4

Question Number : 42 Question Id : 64635011145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

64535043863, 1
64535043864, 2
64535043865, 3
E4E3504386E6. 4



Question Number : 43 Question Id : 64635011146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535043867, 1
64535043868, 2
64535043869, 3
EAE35043870. 4

Question Number : 43 Question Id : 64635011146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535043867, 1
64535043868, 2
E4E35043869. 3
EAE35043870. 4

Question Number : 44 Question Id : 64635011147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535043871, 1
64535043872, 2
EAE35043873. 3
EAE35043874. 4

Question Number : 44 Question Id : 64635011147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535043871, 1
64535043872, 2
E4E35043873. 3



EAE35043874. 4

Question Number : 45 Question Id : 64635011148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

645350435875, 1
64535043876, 2
E4E35043877. 2
E4E35043878. 4

Question Number : 45 Question Id : 64635011148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635043875, 1
64635043876, 2
64635043877, 3
64635043878 4

Question Number : 46 Question Id : 64635011149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

64535043879, 1
64535043880, 2
E4E35043881. 3
EAE35043882. 4

Question Number : 46 Question Id : 64635011149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E35043879. 1
64535043880, 2
64535043881, 3
64535043882, 4

Question Number : 47 Question Id : 64635011150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4E25043885. 1

64535043854 2

64535043885 3

64835043386, 4

Question Number : 47 Question Id : 64635011150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
4835043883, 1
E4E35043554, 2

E4E35043885. 3
E4E35043886. 4

Question Number : 48 Question Id : 64635011151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35043887. 1
64535043888, 2



EAE35043889. 3
64535043830, 4

Question Number : 48 Question Id : 64635011151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535043887, 1
64535043888, 2
E4E35043889. 3
E4E35043830. 4

Question Number : 49 Question Id : 64635011152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E8250425891. 1

EAE25043892 2

E45350438593. 3

645350435594 4

Question Number : 49 Question Id : 64635011152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635043891, 1
64635043892, 2

E4E350438393. 3
E4E35043894. 4

Question Number : 50 Question Id : 64635011153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E4535043895. 1
64535043836, 2
64535043837, 3
64535043838, 4

Question Number : 50 Question Id : 64635011153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535043855, 1
64535043836, 2
64535043837, 3
E4E350438395. 4

PART 11 Kashrmri

Section Id : 646350300
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350529
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635011154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



:gf;gﬁfdu;lir‘;
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Options:

64535043599, 1
4535043300, 2
64535042901, 5
645350439302, 4

Question Number : 51 Question Id : 64635011154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
:gf;gﬁfdu;lir‘;
%ﬁsﬁﬁJﬁdfl,fguLJ‘ (1)

Fagy
ClnbZe by ®

JL'}.L].E;/-’ PATANC)

Options:

64535043599, 1
64535042900, 2
64535043301, =
64535043302, 4

Question Number : 52 Question Id : 64635011155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mapet g %d{FUﬁ(Ldﬁﬁﬂfa’uﬂ
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Options:

64835043903, 1
4535043304, 2
64535042905, o
64535043906, 4

Question Number : 52 Question Id : 64635011155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

:yliagff@g(yu&rbdﬁﬁuﬂ;%h(l
=3 @
=LUE- @
=LUgE ®
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Options:

4535043003, 1
64535042904, 2
64535043305, =
64535043306, 4

Question Number : 53 Question Id : 64635011156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s b Pt b o s it G s
@;J’ZL (1)
u‘f (2)
,J:;.f:g) (3)

gt i
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Options:

64835043907, 1
4535043308, 2
64535042909, 5
64535043910 4

Question Number : 53 Question Id : 64635011156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
s ':;, W a.*,,“/l/",‘.u
MHEFQJJ:U{%J*L’? h..-u"!!/ﬁuffl,{,quf L;;g!LJJJJ
gl (D)

Options:

4535043007, 1
64535042908, 2
64535043309 =
64535043310 4

Question Number : 54 Question Id : 64635011157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



;A*J‘J‘LQ;iu'}*zd;f'a)l/zﬂﬂjﬁJ)fi"i—-l,*&:‘fd'zf/‘:"?
S
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Options:
4525042911, 1

E4E35043912. 2
E4535043913. 3
64535043914, 4

Question Number : 54 Question Id : 64635011157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SRR N I SRR AR 4

._;,;»*/ (1)

E

M (2
nll (3

/."J (4)

Options:

64535043911, 1
64535043312 2
64835043912 =2
64535042914, 4

Question Number : 55 Question Id : 64635011158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835043915, 1
4535043916, 2
64535042917, 5
64535042918, 4

Question Number : 55 Question Id : 64635011158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-L:"i'i‘uﬁ—g J(lel’dﬁ'd*‘iﬂ@[/’&du’ﬂ L"J’J
S @

‘;ji‘";&( (2)
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Options:

645350434915 1
64535042916, 2
64535042917, 5
645350439315, 4

Question Number : 56 Question Id : 64635011159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



;b f)’;_,tf 2k (§ 0 rb»f UVJ fk rf 1924241914
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Options:

64535043919, 1
64535043920, 2
64535043921, =
4835043922 4

Question Number : 56 Question Id : 64635011159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

:@bf};_,L"@,31..,_.,:-;dp&rwfuﬁ;ffkrﬁsuglsm
Jpd )
H:JJ-;J,;:’/ (2)

Y, L;lrb (3)
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Options:

64535043919, 1
64535043920, 2
64535042921, 5
64535043922, 4

Question Number : 57 Question Id : 64635011160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E350435923 1

E4E35043924. 2
E4E35043925. 3
EAE535043926. 4

Question Number : 57 Question Id : 64635011160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

iy 5 T i f
K Egs
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sl Jly (3)
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Options:

64535043923, 1
64535043924 2
645350439325 2
E4E35043926. 4

Question Number : 58 Question Id : 64635011161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043927, 1
4535043928, 2
64535042929, 5
64535043930, 4

Question Number : 58 Question Id : 64635011161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

w2 3 e g S B L

Options:

64535043927, 1
64535042928, 2
64535043929 2
64535043330 4

Question Number : 59 Question Id : 64635011162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S eihtsws P ok
Fe

Options:

645350435951 1
64535042932, 2
64535042933, o
64535043934 4

Question Number : 59 Question Id : 64635011162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Jeiitsuar Fiy
F(eY

J (2)
<y (3)

Options:

64535043931, 1
64535043932, 2
645350439333 2
E4E35043934 4

Question Number : 60 Question Id : 64635011163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043935, 1
64535043936, 2
4835043937 2
4535043938 4

Question Number : 60 Question Id : 64635011163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& noe T4
b Sl dlg Sl @
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by M3l ©®
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Options:

64535043935, 1
64535043936, 2
64535043937, 2
4835043938 4

Question Number : 61 Question Id : 64635011164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2 o S
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ory (2)
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Options:

64535043939, 1
4535043940 2
64535042941, 5
64535043942 4

Question Number : 61 Question Id : 64635011164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
3 -‘J .d
:)‘;bfﬂ){,ﬁ"gn" bls ¥
<oy (1)
sy (2)

ot oS (3)

¥

Options:

645350439390, 1
64535042940, 2
64535043941 =
64535043342 4

Question Number : 62 Question Id : 64635011165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043943, 1
64535043944 2
64835043945 =2
4535043946 4

Question Number : 62 Question Id : 64635011165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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el 1)
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Options:

64535043943, 1
64535043944 2
64835043945 =2
4535043946 4

Question Number : 63 Question Id : 64635011166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043947, 1
4835043948 2
4535043949 =2
64535042950, 4

Question Number : 63 Question Id : 64635011166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043947, 1
4835043948 2
4535043949 =2
64535042950, 4

Question Number : 64 Question Id : 64635011167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043951, 1
64535043352, 2
64835043952 =2
E4E35043954 4

Question Number : 64 Question Id : 64635011167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

.J,MA,@‘HIJ!J‘{
e A Frr (D
v 3lnbl s @
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dyru (4)

Options:

64535043951, 1
64535043952 2
645350439353 =
64535043954 4

Question Number : 65 Question Id : 64635011168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043955, 1
64835043956 2
4535043957 =2
64535043955, 4

Question Number : 65 Question Id : 64635011168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

J-C*[é.ﬂ:/ JA ri:l];l.f-:’ O

Options:

64535043955, 1
64835043956 2
4535043957 =2
64535042958, 4

Question Number : 66 Question Id : 64635011169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45250429559 1

E4E35043960. 2
E4E35043961. 3
EA53504396%2. 4

Question Number : 66 Question Id : 64635011169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
-dlﬂt"lﬁfﬁﬁ J/-’”’rfé‘-’-a.l»"t.fa '

J;;L’"T (1)

Options:

64535043959, 1
64535043360, 2
4835043961, 2
64535043962, 4

Question Number : 67 Question Id : 64635011170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535043962 1
G4AE35043964 2
64535043365, 3
645350439366, 4

Question Number : 67 Question Id : 64635011170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks 0
waok P ey e ]
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dﬂﬁfb(m

dygjtm

o o2 (4)
Options:
64535043962, 1
64535043364, 2
64535043965, 3
645350439366, 4

Question Number : 68 Question Id : 64635011171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043967, 1
4835043968, 2
4535043969 2
64535042970, 4

Question Number : 68 Question Id : 64635011171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ur‘:"‘_ﬂ'ﬁb’#w'ézaﬁ;m‘)l
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Options:

64535043967, 1
4835043968, 2
4535043969 2
64535042970, 4

Question Number : 69 Question Id : 64635011172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:
45350435971 1

EAE35043972. 2
E4E35043973. 3
64535043974, 4

Question Number : 69 Question Id : 64635011172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535043971, 1
64535043972, 2
645350439373 2
E4E35043974 4

Question Number : 70 Question Id : 64635011173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043975, 1
4835043976 2
4535043977, 2
64535042978, 4

Question Number : 70 Question Id : 64635011173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
:@Imlﬂf-fufgb cf;gdl,;u)l,,;‘f:ﬁ 'Wﬁdlfg,lﬁ}'
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Options:

64535043975, 1
4835043976 2
4535043977, 2
64535042978, 4

Question Number : 71 Question Id : 64635011174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350439791
645350439350, 2
64535043951, 3
64G35043982. 4

Question Number : 71 Question Id : 64635011174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535043979 1
64535043980, 2
645350439381, 3
645350439352, 4

Question Number : 72 Question Id : 64635011175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E350435953. 1

E4E35043984. 2
E4E35043985. 3
E4535043986. 4

Question Number : 72 Question Id : 64635011175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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eale 2 1
Options:
64535043983, 1
645350439584, 2

64535043985, 3
645350439586, 4

Question Number : 73 Question Id : 64635011176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535043987, 1
64535042988, 2
64535043989, =
645350439390, 4

Question Number : 73 Question Id : 64635011176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
’ s ' H f H -1
e ;ﬁ%jﬁ;f J° B My e
<A gl
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Options:

64535043987, 1
E4E35043988. 2
645350429589, 5
64535042990, 4

Question Number : 74 Question Id : 64635011177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

64535043991, 1
64535043392 2
64835043992 2
E4E35043994 4

Question Number : 74 Question Id : 64635011177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535043991, 1
64535043992, 2
64835043992 =2
E4E35043994 4

Question Number : 75 Question Id : 64635011178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043995, 1
645350439396, 2
E4E35043997. 2
45350439398, 4

Question Number : 75 Question Id : 64635011178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043995, 1
645350439396, 2
4835043997 2
45350439398, 4

Question Number : 76 Question Id : 64635011179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043999, 1
64535044000, 2
64835044001, 2
4535044002, 4

Question Number : 76 Question Id : 64635011179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043999, 1
64535044000, 2
64835044001, 2
4535044002, 4

Question Number : 77 Question Id : 64635011180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044003, 1
E4E35044004, 2
4535044005, 2
64535044006, 4

Question Number : 77 Question Id : 64635011180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64825044003, 1
4535044004, 2
64535044005, =
64535044006, 4

Question Number : 78 Question Id : 64635011181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 78 Question Id : 64635011181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044007, 1
64535044008, 2
64835044009, 2
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Question Number : 79 Question Id : 64635011182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



_L)';Lﬂilu&'fﬁ N L(q.zg’ﬁf
"?ITQLL‘)L’{UJE dj!’(ﬂ-:TL;in
2o iy Ze J/;E:

dzj (1)

-+
Sk @
5
Ft @
L (4)
Options:
64635044011, 1
64635044012 2
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4235044014 4

Question Number : 79 Question Id : 64635011182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 80 Question Id : 64635011183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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64835044016, 2
4535044017, 2
64535044018, 4

Question Number : 80 Question Id : 64635011183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
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64535044017, =
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Question Number : 81 Question Id : 64635011184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 81 Question Id : 64635011184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 82 Question Id : 64635011185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 82 Question Id : 64635011185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lo, Sl gk Fap g b liJx uf
JJd @
db‘;ﬁ”‘ (2)
i m

by @
Options:
64535044023, 1
64835044024, 2
4535044025 2
64535044026, 4

Question Number : 83 Question Id : 64635011186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4525044027 1

E4E35044025. 2
E4E35044029. 3
64535044020, 4

Question Number : 83 Question Id : 64635011186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64535044027, 1
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64835044029 2
64535044020, 4

Question Number : 84 Question Id : 64635011187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535044031, 1
64835044032 2

64535044032, 3
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Question Number : 84 Question Id : 64635011187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 85 Question Id : 64635011188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044035, 1
64535044036, 2
E4E35044037. 2
45350440328, 4

Question Number : 85 Question Id : 64635011188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044035, 1
64535044036, 2
64835044037 2
45350440328, 4

Question Number : 86 Question Id : 64635011189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 86 Question Id : 64635011189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044039, 1
64535044040, 2
64535044041, =
E4E35044042 4

Question Number : 87 Question Id : 64635011190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044043, 1
4535044044 2
64535044045 5
64535044046, 4

Question Number : 87 Question Id : 64635011190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IR 2 PR s
eteprsz b @
_,lfﬁml,iﬁ (2)
_;Ifm’@g,‘;iﬁ (3)
-;lfm’d:bi;iﬁ (4)

Options:

4535044043, 1
64535044044 2
64535044045 =
645350440465, 4

Question Number : 88 Question Id : 64635011191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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E4E35044045. 2
E4E35044043. 3
64535044050, 4

Question Number : 88 Question Id : 64635011191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044047, 1
64535044048, 2
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Question Number : 89 Question Id : 64635011192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044051, 1
4535044052, 2
64535044052 5
64535044054 4

Question Number : 89 Question Id : 64635011192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044051, 1
64535044052, 2
64535044053 =
64535044054 4

Question Number : 90 Question Id : 64635011193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044055, 1
E4E35044056. 2
4535044057 2
64535044058, 4

Question Number : 90 Question Id : 64635011193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835044055, 1
4535044056, 2
64535044057, o
64535044058, 4

Question Number : 91 Question Id : 64635011194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
64535044059 1

E4E35044080. 2
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Question Number : 91 Question Id : 64635011194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

# sy T B e A
#1917 (1)
#1918 (2)
#1919 ()

#1920 (4

Options:
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Question Number : 92 Question Id : 64635011195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 92 Question Id : 64635011195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535044064, 2
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Question Number : 93 Question Id : 64635011196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044067, 1
4835044068, 2
4535044089 2
64535044070, 4

Question Number : 93 Question Id : 64635011196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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64535044070, 4

Question Number : 94 Question Id : 64635011197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
64535044071, 1
64535044072 2
64535044073 2
4835044074, 4

Question Number : 94 Question Id : 64635011197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 95 Question Id : 64635011198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044075, 1
4835044076, 2
4535044077, 2
64535044073, 4

Question Number : 95 Question Id : 64635011198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35044077. 3
64535044078, 4

Question Number : 96 Question Id : 64635011199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635044073, 1
64535044080, 2
64535044081, =
645350440582, 4

Question Number : 96 Question Id : 64635011199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 97 Question Id : 64635011200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 97 Question Id : 64635011200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 98 Question Id : 64635011201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 98 Question Id : 64635011201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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4535044088, 2
64535044089, o
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Question Number : 99 Question Id : 64635011202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 99 Question Id : 64635011202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044091, 1
4535044092, 2
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Question Number : 100 Question Id : 64635011203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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64535044055 1
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Question Number : 100 Question Id : 64635011203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ot Mcke: 2 wrong arks: |
L g S LB S

Lok @

S o 2 @

5 @

;ﬁ' (4)

Options:

64535044095, 1
4835044096, 2
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Question Number : 101 Question Id : 64635011204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044099, 1
64535044100, 2
64535044101, 2
4835044102, 4

Question Number : 101 Question Id : 64635011204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535044100, 2
64535044101, =
64835044102 4

Question Number : 102 Question Id : 64635011205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535044103, 1
64835044104, 2
4535044105 2
64535044106, 4

Question Number : 102 Question Id : 64635011205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 103 Question Id : 64635011206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64535044107, 1
64835044108, 2
64535044109, 5
64535044110 4

Question Number : 103 Question Id : 64635011206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64535044107, 1
4835044108, 2
4535044109 2
64535044110, 4

Question Number : 104 Question Id : 64635011207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535044112 =
64535044114, 4



Question Number : 104 Question Id : 64635011207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 105 Question Id : 64635011208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535044115, 1
4535044116, 2
64535044117, 5
645350441158, 4

Question Number : 105 Question Id : 64635011208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044115, 1
64535044116, 2
64835044117, 2
4535044118 4

Question Number : 106 Question Id : 64635011209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635044119, 1
64535044120 2
64535044121, =2
4835044122 4

Question Number : 106 Question Id : 64635011209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044119, 1
64535044120 2
64835044121, =2
4535044122 4

Question Number : 107 Question Id : 64635011210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635044123, 1
64535044124 2
64535044125 =
4835044126 4

Question Number : 107 Question Id : 64635011210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 108 Question Id : 64635011211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044127, 1
64535044128, 2
64535044129 2
64835044120 4

Question Number : 108 Question Id : 64635011211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044127, 1
64535044128 2
64835044129 2
4535044120 4

Question Number : 109 Question Id : 64635011212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635044151, 1
64535044132 2
64535044133 =
64535044134 4

Question Number : 109 Question 1d : 64635011212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635044131, 1
64535044132 2
64535044133 =
64535044134 4

Question Number : 110 Question Id : 64635011213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044135, 1
64535044136 2
64535044137, =
64535044135 4

Question Number : 110 Question Id : 64635011213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044135, 1
4835044136 2
4535044137 2
64535044125, 4

Question Number : 111 Question Id : 64635011214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044139, 1
64835044140, 2
64535044141, 5
64535044142 4

Question Number : 111 Question Id : 64635011214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044139, 1
64835044140, 2
4535044141 =2
64535044142 4

Question Number : 112 Question Id : 64635011215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835044143 1
E4E35044144 2
64535044145 5
64535044146 4

Question Number : 112 Question Id : 64635011215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
64535044143 1

EdE35044144. 2
E4535044145 3
64535044146, 4

Question Number : 113 Question 1d : 64635011216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
M € s JUI g o

Jaas (1)

Options:

E4E35044147 1
64535044148, 2
64535044149 =
64535044150, 4

Question Number : 113 Question 1d : 64635011216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044147, 1
64835044148 2
4535044149 =2
64535044150, 4

Question Number : 114 Question Id : 64635011217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4825044151. 1
4525044152 2
E4535044153 =
64535044154 4

Question Number : 114 Question 1d : 64635011217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4825044151. 1
4525044152 2
E4535044153 =
64535044154 4

Question Number : 115 Question 1d : 64635011218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g ujtil'uj'l;[fndfs-fi'
(:Uﬁ’{fﬂ;r; 2o% (1)
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& ¥
Options:
64535044155, 1
64835044156 2
4535044157 2
64535044158, 4

Question Number : 115 Question Id : 64635011218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635044155, 1
64535044156 2
64535044157, =
64535044158 4

Question Number : 116 Question 1d : 64635011219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044159, 1
64535044160, 2
64835044161, 2
64535044162, 4

Question Number : 116 Question Id : 64635011219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535044159 1

E4E35044160. 2
E4E35044161. 3
64535044162, 4

Question Number : 117 Question Id : 64635011220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64535044163, 1
64535044164, 2
64535044165 5
64535044166, 4

Question Number : 117 Question Id : 64635011220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044163, 1
64535044164, 2
4835044165 2
4535044166 4

Question Number : 118 Question Id : 64635011221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
:rm’,ﬁg,nuﬁ;w PN,
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ﬁfg[dﬁi (3)

- 4

Options:

64535044167,
64535044168,
4835044169,
4535044170,

o P

Question Number : 118 Question Id : 64635011221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044167, 1
4835044168 2
4535044169 2
64535044170, 4

Question Number : 119 Question Id : 64635011222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350441711
64535044172, 2
64535044172 5
64535044174 4

Question Number : 119 Question Id : 64635011222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350441711
64535044172, 2
64535044172 5
64535044174 4

Question Number : 120 Question Id : 64635011223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
:c}’fﬂ .E[rﬁ;/ d‘l J!l,:;ﬁy JL-" 'u‘%l
Jé 24 (1)

Jggff (2)

Options:

648350441751
4535044176 2
64535044177, 5
64535044178, 4

Question Number : 120 Question Id : 64635011223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044175, 1
64535044176, 2
4835044177, 2
4535044178 4

Question Number : 121 Question Id : 64635011224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044179, 1
64535044180 2
64535044181, =
64535044132 4

Question Number : 121 Question 1d : 64635011224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635044179, 1
64535044180, 2
645350441381, =2
4835044182 4

Question Number : 122 Question Id : 64635011225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835044183 1
4535044184 2
64535044185, 5
645350441586, 4

Question Number : 122 Question Id : 64635011225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

46350441583, 1
64535044184, 2
64535044185 =
645350441586, 4

Question Number : 123 Question 1d : 64635011226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044187, 1
64835044188 2
4535044189 =2
64535044190, 4

Question Number : 123 Question Id : 64635011226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044187, 1
64535044188, 2
64535044189 =
64535044190 4

Question Number : 124 Question 1d : 64635011227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044191, 1
64835044192 2
E4E35044192. =2
64535044194, 4

Question Number : 124 Question Id : 64635011227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635044191, 1
64535044192 2
64535044193 =
64535044194 4

Question Number : 125 Question 1d : 64635011228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535044195, 1
64535044196, 2
64535044197, =
64535044195, 4

Question Number : 125 Question 1d : 64635011228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044195, 1
4835044196 2
4535044197, 2
64535044198, 4

Question Number : 126 Question Id : 64635011229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044199, 1
64535044200, 2
64835044201, 2
4535044202, 4

Question Number : 126 Question Id : 64635011229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044199, 1
64535044200, 2
64835044201, 2
4535044202, 4

Question Number : 127 Question Id : 64635011230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835044203, 1
64535044204, 2
64535044205, 5
64535044206, 4

Question Number : 127 Question Id : 64635011230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BRI IR AT e
g W

ﬁ'«l (2)
{ L ®

&})/ (4)

Options:

4635044203, 1
64535044204, 2
64535044205 =
64535044206, 4

Question Number : 128 Question 1d : 64635011231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044207, 1
64535044208, 2
64835044209 2
64535044210, 4

Question Number : 128 Question Id : 64635011231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635044207, 1
64535044208, 2
64535044209 =
64535044210, 4

Question Number : 129 Question 1d : 64635011232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A2 g 1B g F o iy ez 5L
H;f (1)
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Options:

4635044211, 1
64535044212 2
64535044213 =
64535044214 4

Question Number : 129 Question 1d : 64635011232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044211, 1
4835044212 2
45350442132 2
64535044214, 4

Question Number : 130 Question Id : 64635011233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635044215, 1
64535044216, 2
64535044217, =
64535044215, 4

Question Number : 130 Question Id : 64635011233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635044215, 1
64535044216, 2
64535044217, =
64535044215, 4

Question Number : 131 Question 1d : 64635011234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535044219 1

E4E35044220. 2
EdE35044221. 3
BAE3504422%. 4

Question Number : 131 Question Id : 64635011234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044219, 1
64535044220 2
64835044221, 2
4535044222 4

Question Number : 132 Question Id : 64635011235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044223, 1
64535044224 2
64535044225 =2
E4E35044226. 4

Question Number : 132 Question Id : 64635011235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044223, 1
64535044224 2
64835044225 =2
4535044226, 4

Question Number : 133 Question Id : 64635011236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35044227. 1
64535044228, 2
64535044229, 3
64535044230, 4

Question Number : 133 Question Id : 64635011236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044227, 1
64535044228, 2
64535044229, 3
64535044230, 4

Question Number : 134 Question Id : 64635011237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044231, 1
4835044232 2
4535044233 =2
64535044224, 4

Question Number : 134 Question Id : 64635011237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044231, 1
64835044232 2
4535044233 =2
64535044224 4

Question Number : 135 Question Id : 64635011238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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-JﬁtfﬁdﬂJHﬂ%Z" @
-édjiwm’fﬁfé (2)
_sgiw,:;..m,fﬁ’%ﬂ &)
~,v:*‘u’ﬂu’ﬂ¢»f'ﬁ~r’f/f’(ﬁ 4

Options:

64835044235 1
4535044236 2
64535044237, o
64535044228, 4

Question Number : 135 Question Id : 64635011238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044235, 1
E4E35044236 2
4535044237 2
64535044228, 4

Question Number : 136 Question Id : 64635011239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635044259, 1
64535044240, 2
64535044241 =
64535044247 4

Question Number : 136 Question 1d : 64635011239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
435044259 1

EdE35044240. 2
EdE35044241. 3
G453504424%, 4

Question Number : 137 Question Id : 64635011240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044243 1
64535044244 2
64535044245 =
E4E35044246, 4

Question Number : 137 Question Id : 64635011240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35044243 1

EdEzs044244, 2
EdE35044245, 3
64535044246, 4

Question Number : 138 Question Id : 64635011241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044247, 1
4835044248 2
E4E35044249 =2
64535044250, 4

Question Number : 138 Question Id : 64635011241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044247, 1
64535044245 2
64535044249 =
4835044250 4

Question Number : 139 Question Id : 64635011242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635044251, 1
64535044252 2
64535044253 =
64535044254 4

Question Number : 139 Question 1d : 64635011242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044251, 1
64535044252 2
64835044252 =2
E4E35044254 4

Question Number : 140 Question Id : 64635011243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044255 1
64535044256, 2
64835044257 2
4535044258 4

Question Number : 140 Question Id : 64635011243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044255, 1
4835044256 2
4535044257 2
64535044255, 4

Question Number : 141 Question Id : 64635011244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044259, 1
64535044260, 2
64535044261, =
4835044262 4

Question Number : 141 Question 1d : 64635011244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044259, 1
64535044260, 2
64535044261, =
4835044262 4

Question Number : 142 Question 1d : 64635011245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64635044263, 1
64535044264 2
64535044265 =
4835044266, 4

Question Number : 142 Question 1d : 64635011245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044263, 1
4835044264 2
4535044265 =2
4535044266, 4

Question Number : 143 Question Id : 64635011246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044267, 1
64535044268, 2
E4E35044269. 2
64535044270, 4

Question Number : 143 Question Id : 64635011246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044267, 1
64535044268, 2
E4E35044269. 2
4535044270, 4

Question Number : 144 Question Id : 64635011247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535044271 1
64535044272, 2
64535044273 5
64535044274 4

Question Number : 144 Question Id : 64635011247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
453250442711

EAE35044272. 2
E4E35044273. 3
64535044274, 4

Question Number : 145 Question 1d : 64635011248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044275, 1
64535044276, 2
4835044277 2
4535044278 4

Question Number : 145 Question Id : 64635011248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35044275 1

E4E35044276. 2
EAE35044277. 3
64535044278, 4

Question Number : 146 Question Id : 64635011249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044279, 1
64535044280, 2
64835044281, =2
4535044282 4

Question Number : 146 Question Id : 64635011249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



:Jﬂﬁi;#'#.‘);ﬂ'
1@;.@ (1)

#il s (2)

Higs

J€I @

Options:
E4E3250442759. 1

E4E35044280. 2
E4535044281. 3
64535044282, 4

Question Number : 147 Question 1d : 64635011250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350442583, 1

64535044254 2

64835044285 =2

45350442586, 4

Question Number : 147 Question Id : 64635011250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35044255.

EAE35044254,
E4535044255.
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Question Number : 148 Question Id : 64635011251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64635044287, 1
64535044288, 2
64535044259 =
4835044290 4

Question Number : 148 Question 1d : 64635011251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835044287, 1
4535044288, 2
64535044289 o
64535044290, 4

Question Number : 149 Question Id : 64635011252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044291, 1
64535044292, 2
64535044292 5
64535044294 4

Question Number : 149 Question Id : 64635011252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044291, 1
4835044292 2
4535044292 2
64535044294, 4

Question Number : 150 Question Id : 64635011253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535044295,
4535044296,
64535044297,
64535044298,
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Question Number : 150 Question Id : 64635011253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635044295, 1
64635044296 2

64535044257, 3
64535044235, 4
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